LT 2 = Iilleengen B85

77 = * 578

L122 = " 409

Y79 = (S. typhl ‘“atson, fron Keuffmann)

s 57 = (S, typhi H90l W, Edwerds, circular 5h.)

SW 351 = LT22’ (ﬁ &1. * tyra)". tm).“. g&l.. WI.
SW 414 = LP2 meth.~-, hist=,

SW 435 =sw3sL, SR (500 units)

SW 520 = SY79 + FA. L77. (B=1)

SW 5§32 = SY79 ¢+ FA. LT2 (Rhamnose)
S¥w 53k = 0 from S¥ 533 (phage)

SW €36 = © from SW 535 (pheage)

SW 537 = 8, typhi K901l Boulgakoff
Sy §38 = 0 from 8% 537 (phoge)

S¥ 539 = S. typhi 382 Boulgakoff
8% 540 = S, typhl rouvgh Boulgakoff
S¥ 541 = S, tem copenhegen 0 {F.X.)
SV 542 = 8, typhi 0.901 (¥.K, 58)
SW 542 = §, nara 3 0 {¥.K. 2:8)

Sy 54 = 8, tem 0 (P.E. 13)

SWA B4 mBopart Bphosa F-R«Ds

S¥ 545 = 8, =m O 4937/50 Zdwerds

8¢ 546 = 8, yparz R pheaas 11 We23 Zdwarde
SW 547 = 5, t=m phase IT 151 idwards

S¥ 548 = 3, group B, 0 2294/49 "

SV 549 = 8, group B, 0 117/51 "

8 852 = 3. growp D, O 153&/51 L

S¥ 553 = §. zroup D, 0 1520/51 n

SW 558 = 8, gallinarum 30953 U

SW 563 = SW553 + FA.LT2, motile (s,+.)

SW 569 = SWs37 (x.golg + FA. LP2, motile (4)
8V 570 = 8W537 (H.901) + PA, 172, ° "
SW 572 = Motile mutant of SW S43 (1) = _
T 77 Tand SW 573 to SW 656,




